Division par 10% (B)

54371+ 10% =

9,259 + 10° =

1,2276 = 10% =

8+ 10% =

4,25 =102 =

6,1 ~10% =

1,9771 + 10% =

1,45 + 10% =

9,885 = 10% =

8,9 +~ 10 =

Trouvez chaque quotient.

8,991 ~ 10% =
58+ 10% =
8,816 ~ 10% =
2,79 - 10% =
9,62 + 10% =
8,63 + 10% =
41122 +10% =
8,51 ~ 102 =
2,4587 + 10% =
3,97 + 10% =
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Division par 10% (B) Solutions

Trouvez chaque quotient.

54371 + 10% =0,054371

9,259 + 10 = 0,09259

1,2276 + 10> =0,012276

8 +10%=0,08

4,25 + 10% = 0,0425

6,1 + 10° = 0,061

1,9771 + 10> =0,019771

1,45 + 10*=0,0145

9,885 + 10 = 0,09885

8,9 ~ 10% = 0,089

8,991 + 10% = 0,08991

5,8 +10*=0,058

8,816 + 102 =0,08816

2,79 +10%=0,0279

9,62 + 10% = 10,0962

8,63 + 10> =0,0863

4,1122 + 10%* = 0,041122

8,51 + 10%=0,0851

2,4587 + 10% = 0,024587

3,97 + 10% = 0,0397
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